
ARM080.500

Rotatable 
Intermediate Hinge

(Insert the angle bolts into their slots and tighten 
them.) (Remove the yellow tape. Place the gasket with adhesive 

surface inside.)

8x M6 x 30

M6X20

2x 2x

8x

4x

J6.4

2x

TS EN 50085-1



below )

(  Use M6x20 bolts for angle correction.)

(If there is no sagging in your application, leave the 
angle bolts in tightened position.)

(If there is sagging in your application,loosen the 

position, tighten back the M6x30 angle bolts. You 
can use a spirit level etc. to check the slope.                                              

M6 x

( Make sure that the assembly is done as shown in the picture 
below.) 



(Rotation limit wall)

M6 x10

31
5

M6 ( Alyan )

M6 x

due to heavy  weight that might occur in long length 

157,5°

157,5°

Attention:

M6X10 bolts. There are eight holes at equal intervals 
on the module. You can optionally set the rotation 
limits with two bolts

( Place the cable protection plastics as shown in the 
picture )

below)

M6 x



(Remove the yellow tape. Place the gasket with the adhesive 
surface inside)

(Position and assemble the covers and bolts as shown 
in picture)

(Check the gaskets for high sealing)


